Efficiency vs Dxy(PV)
S 0.2
o
0.18
S
»0.16
>
20.14
5]
'50.12
g
® 0.

0.08

0.06

0.04
0.02

.0
2|
1.5]
1e=--t b . . H h . .
O3 5=20-15-10 =5 0 5 10 15 20 25

TP dxy(PV) (cm)

Ratio

—=— DQM_V0001_R000000001__Global__mkFit_baseline

—— DQM_V0001_R000000001__Global__mkFit_var

—— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean

| Efficienc] —— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval

[y

R L L L N

0.8]

0.6}

0.4]

0.2]

Ratio

040608 1

| N N N N
-1-0.8-0.6-0.4-0.2 0 0.2
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

S L
a [
N -
'S) P B Bete e
e T
Py r . . . . .
o I . . . . .
& 08p-eeees eredeeee SEREED PR
= r . . . . .
15} o . . . . .
0.6f == wesene Feereedeeees RN FEERED
LRt EET RIS TILE TILER SIPEE
O PR PETE PPPPRS SRPPP
g
T
X 1.5
20

30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

efficiency vs dz(PV)

7 50 SRS SRS SRS RN
S SRS SN I SR S
° of—i i +‘: i i
g C ]
[vd .
15F - a e FE. HH----- PP,
j| ST y-----bdHH-----53----c-- i--
-1 -0.5 0

05 1
TP dz(PV) (cm)



	Contents
	Page 1


